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The Shor is not similar to the Mav’eh — FYRAT D VW T RY

OVERVIEW

When the miwn states 727 >3 WA 275 R? [or the similar expression of 77 °K7 K?
7 °R10] it can be understood to mean that MW [or the first '77'] 1s not similar to 77van
[or the second '71']; in the sense that the first case (MW) is lacking something which
the second case (77v2n) possesses.

We derive certain laws by a process which is known as a mwn 7% — a common
factor. A certain law, ‘X’, applies to ‘A’ and ‘B’. We want to apply this law, ‘X,
to ‘C’ as well. However we cannot derive C from A, because A possesses a certain
factor, ‘a’, which may explain why this rule (X) should apply only to A and not to
C, which lacks this factor ‘a’. Similarly we cannot derive C from B, because B
possesses a different factor, ‘b’, which C lacks. However A does not possess factor
b, and B lacks factor a. [In the X713 language this is stated as &9 737 °R7D 77 X7 K
77 °R7D 17 °X1. A 1s not similar to B, and B is not similar to A.] Therefore we reason,
that it cannot be factors a or b which cause A and B to possess rule X, for A lacks
factor b [the first ;17 °x7 X9],' and B lacks factor a [the second” 7 *X1 ®91]. However,
A, B, and C all share a common factor ‘c’. We assume that since A, B, and C share
factor ¢, so just as A and B have rule X; similarly C too should have rule X.

In conclusion: the term 77 °X7 X2 refers to the X7 [the seemingly contributing
factor of the second 77], which the first 77 1s lacking.

If we were to follow this approach concerning the phrase v °3770 Wn "7 R? in
our Mwn; it would mean that W is lacking the X721 of 7van (just as by a MW 7X,
where the phrase X7 X7 is discussing the xmm).” Mmoo, however negates this
interpretation.

- Snyan Y NP MY HY 9P P ‘wivse

" A lacks factor b, the X1 and seeming cause of rule X by B, and nevertheless rule X applies to A.

* B lacks factor g, the x1m1 and seeming cause of rule X by A, and nevertheless rule X applies to B.

? According to this understanding, the 73wn is teaching us that since T is lacking the X1 of Avan (where X317 W
Tp1on?), therefore if the 770 would have written only 7v2an, we would not be able to derive MW from 7van, since 7yan
is more A1 than Mw.

* The term w11 is used in MdON to indicate that the explanation is somewhat different from what we may have
assumed. The explanation MoIN is negating will be stated shortly in this N190IN. See footnote # 3.

> This means that M is not as ‘mild’ as 7yan; rather 7van has a X717 that M dos not possess. The phrase MW ™7 &Y
7vani "0 is to be understood (see ‘Overview’) that 7 is lacking something which 7van has. It can be interpreted
in regards to a X717 or a X7, NYOIN maintains that it is concerning a X7p.
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The explanation of the phrase 1217 772 Wi 0 XY is that the mildness of = w

is not similar to the mildness of ryan -
- S3wh NYam 19999 MY NIN TIINRT INPY KN NPy wIonTs

As the X3 explains later according to the one who maintains that 1w refers

to 9P and nvan refers to 3 they do not have the same X7 -
= PN INIMNID PON NYANY PITAY 1NN NIVYT DIVN

Because by = (which refers to 17p) his intent is to do damage (maliciously);

however by nwan (which refers to w) the animal has no intent of doing damage
(he is eating to satisfy his hunger; there is no malicious intent). 77v2n has this X3P of N0 PR

P19, that MW is lacking -
= 119999 Y XYW 11939 NPAN NN XY IV XN AN9 ON 72299

So therefore if the 77990 would have (only) written that 912 is 2’11, we could not

derive from 7w that van is 2>, since 7van is milder than ~w; for nvan is N3 PX
P12 as opposed to MW where it is P°177 1N1MD. We would have maintained that 7y2n is M5 even
if M is 2»n. This is the meaning of 7y277 *170 MW 77 KO.

moon tells us the interpretation which he is negating:
= TN KD MIMIYNIY NMINIPN INYI IYITO PN)

And the explanation of 121171 XY here is not like in the other places in the 7v2%n

where the X713 uses the phrase ‘this is not comparable’, etc. -
=117 AT NN MIIND 1PN 7991 AT HY XIDIND N DY NIMIN PN 1YY nhY

For there (elsewhere) the interpretation of the phrase 77 °X7 X%' means that the
severity of this one (A) is not similar to the severity of the other (B), and vice
versa; A is lacking the severity factor that B possesses, and nevertheless the rule
that applies to B, applies to A as well (and the converse is also true). Therefore we

can understand that it is not the n1»I7 (of A or B) that cause this law (since A is

lacking the X1 of B and vice versa)’ -
= 1917 09 )NaY MIVN 181 NON

But rather it is their common factor that causes this law. In the phrase 1 °%7 x>
191 771 981D, we are discussing the mmn of the mw: 7¥; however here we are discussing the M.

6 (x,7) 2,

737 21 interpreting YR,

¥ mooin chose this interpretation of M (instead of the conclusive opinion that it refers to 37), perhaps because it is
the first opinion mentioned in the X713. See >"10.

? See ‘Overview’. [Elsewhere, the intent of the 717 °X1 XY is to explain why this particular factor (X77) cannot be the
cause of this rule (and therefore we can derive from the 7w 7% a new law); however here the (initial) thrust of X>
121771 is to explain that the 770 needed to write all the max '7, since we cannot derive one 2X from the other (but not
that we can derive a new law from the max '7 [as in a regular 7wi1 7X]; that comes later).]
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mooIN anticipates a question and resolves it:
- Lomypn arwan 1o Cnnbnn jxo nw)

And the reason the X223 here changes its usage of the phrase "1 X% from all

other places is -
£ 0N NI 1N YIY NN NT XD NDINN MININN 99TNT DIVN

Because the 7127 mentioned the 212717 first in the case of M9 2773 W 71 777 KN

Q%71 as opposed to W& which has no o1 m7; and therefore WX cannot be derived from the
previous two (M and 7van). The 71wn made it clear in this latter case that we cannot derive the
second (WX) from the first (two, nwvam) W); the same pattern must also exist in the first 771 X
7R 270 MW that we cannot derive the second (7van) from the first (7W), The reason must be
that 9 is more an than 1¥2»; meaning that 7yan has a X7 which W is lacking.

SUMMARY

In our 71wn the term 77 X2 means we cannot derive the second from the first
because the second is more 9p than the first. In a 7Ww:7 7% the term 77 °X7 X? means
that the X721 of the second is not the cause for the rule since the first does not
possess it.

THINKING IT OVER

Why did not the 71wn state o°°n M7 o2 VW 2R 97770 10 M0 12 PRY WRT TR,
and then we could interpret this *777 X% concerning the m M7 like all the other X7
niENe R AN PiS

' In the 73wn itself it does not (seemingly) state clearly by 7vani >335 MWwi ™7 X9, whether we are discussing the
NP or the nmn. It is not clear from the 73w if 7vang *373 W33 7 RS means that if 1w would be written we could
not derive 1van, or it means the converse; if 7van would be written we could not derive Mw. However, the Xani
clearly states that it is the former and not the latter.

' moon is asking, why does not the X3 say that by w257 >3 Wi > X9, we mean that W is lacking the X of
7van (for avan is 3P°172 X317 W but not W) and therefore if the 7710 would have written 7van we could not derive
2 from it (and vice versa by 2w 772 Avana a1 &?). This interpretation would make this *177 X similar to all the
other "7 XY, in the sense that we are discussing the 1.

"> See 0"mn and nwn nomI.
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